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[173&179-G]                   No. of printed pages : 07 

SARDAR PATEL UNIVERSITY 

B. COM. (I SEMESTER) Examination 

2012 

Thursday, 29
th 

November 

2.30 p.m. to 5.30 p.m.  

UB01ECOM02 / 14 : ADVANCED ACCOUNTING - II 

 
Ly$g NyZ : 60 

â.1 
(A) rsfy`rs V²¡$X$k®_u A¡L$ ipMp hX$p¡v$fpdp„ R>¡. dy¿e Ap¡qak ipMp_¡ a¼s fp¡L$X¡$\u h¡Qhp_u ifs¡  

 (12) 
 d|mqL„$ds¡ dpg dp¡L$gu Ap`¡ R>¡. D`S>¡g fp¡L$X$ fL$d ipMp dy¿e Ap¡qak_¡ dp¡L$gphu v$¡ R>¡. 

`fQyfZ MQ® dpV¡$ dy¿e Ap¡qak `¡V$p fp¡L$X$ dp¡L$gu Ap`¡ R>¡. Ap rkhpe_p sdpd MQp® 
dy¿e Ap¡qak¡\u QyL$hpe R>¡. 

  sp. 31-3-2012_p fp¡S> `yfp \sp hj® dpV¡$ dy¿e Ap¡qak_p Qp¡`X$pdp„ ipMp Mpsy„, 
ipMp_y„ h¡`pf A_¡ _ap-_yL$ip_ Mpsy„ s¥epf L$fp¡. 
dpg_p¡ õV$p¡L$ (31-3-2011) 2000 
fp¡L$X$ rkgL$ (31-3-2011) 400 
`¡V$p fp¡L$X$ (31-3-2011) 280 
dy¿e Ap¡qak¡\u dm¡g dpg 69000 
dy¿e Ap¡qak_¡ `fs L$f¡g dpg 29000 
dy¿e Ap¡qak¡\u dm¡g `¡V$p fp¡L$X$ 400 
dy¿e Ap¡qak¡\u dm¡g ar_®Qf (1-10-
2011) 

16000 

`¡V$p fp¡L$X$ (31-3-2012) 200 
dpg õV$p¡L$ (31-3-2012) 2000 
dy¿e Ap¡qak_¡ dp¡L$g¡g fp¡L$X$ 120000 

 

MQp®Ap¡ dy¿e Ap¡qak¡\u 
dm¡g fL$d 

hX$p¡v$fp ipMpA¡ 
Q|L$h¡g fL$d 

`Npf A_¡ dS|>fu 20000 19000 
cpXy$ A_¡ h¡fp¡ 1600 1600 
hudp¡ 1200 1120 
rhS>mu 600 600 
NpX$pcpXy„$ A_¡ dS|>fu 4000 4000 
Ål¡fps MQ® 1200 1160 

 

 ar_®Qf `f 5% g¡M¡ Okpfp¡ L$p`hp_p¡ R>¡. 
 

(b) V|„$L$_p¢^ gMp¡ : dpN®õ\ dpg            (03) 
 

A\hp 
â.1 S>e A„b¡ V²¡$X$]N L„$`_u_u hgkpX$dp„ A¡L$ ipMp R>¡. ipMp_¡ fp¡L$X$ h¡QpZ D`fp„s D^pf h¡QpZ 

 (15) 
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 L$fhp_u `Z kÑp R>¡. fp¡L$X$ h¡QpZ, v$¡hpv$pfp¡ `pk¡\u hk|gps s\p AphL$ Üpfp dm¡gu 
fp¡L$X$ ipMpA¡ fp¡S> dy¿e Ap¡qak_¡ dp¡L$ghp_u lp¡e R>¡. ipMp_p b^p MQp® dy¿e Ap¡qak 
bpfp¡bpf Q|L$h¡ R>¡. `f„sy `fQyfZ Q|L$hZu L$fhp dpV¡$_u `¡V$p fp¡L$X$ dy¿e Ap¡qak ipMp_¡ 
dp¡L$gu Ap`¡ R>¡. v$f drl_p_u iê$Apsdp„ ipMp_¡ ê$p. 100 `¡V$p fp¡L$X$ sfuL¡$ dp¡L$gpe R>¡. 

  dy¿e Ap¡qak sfa\u ipMp_¡ d|mqL„$ds `f 25% _ap¡ QY$phu_¡ dpg h¡Qhp_u 
k|Q_p Ap`hpdp„ Aph¡ R>¡. ipMpA¡ Ap k|Q_p_y„ k„`|Z® `pg_ L$ey¯ R>¡ A¡d ^pfu_¡ _uQ¡_u 
rhNsp¡ `f\u sp 31du dpQ® 2012_p fp¡S> `|fp \sp hj®_y„ ipMp Mpsy„, ipMp_y„ h¡`pf 
Mpsy„ A_¡ _ap _yL$ip_ Mpsy„ s¥epf L$fp¡. 

 

iê$Aps_u bpL$u  
 õV$p¡L$ 8000 
 `¡V$p fp¡L$X$ 0 
hj® v$frdep_ ipMp_¡ dp¡L$g¡g dpg 104000 
ipMpA¡ `fs L$f¡g dpg 4000 
Ly$g h¡QpZ 120800 
fp¡L$X$ h¡QpZ 81300 
N°plL$p¡A¡ ipMp_¡ `fs L$f¡g dpg 800 
dy¿e Ap¡qak¡ ipMp hsu Q|L$h¡g 
MQ® 

 

 cpXy„$ 2400 
 `Npf 5000 
 dS|>fu A_¡ NpX$pcpXy„$ 600 
 L$fh¡fp 800 
 Ål¡fps MQ® 1200 
v$¡hpv$pfp¡ `pk¡\u dþep 40000 
ANpD dp„X$u hpm¡g OpgMp^_p 
dþep 

400 

OpgMp^ 1200 
v$¡hpv$pfp¡_¡ Ap`¡g hV$ph A_¡ hmsf 600 
v$¡hpv$pfp¡_¡ _pd„S|>f L$f¡g hV$ph 100 
ApMf_u bpL$uAp¡  
 v$¡hpv$pfp¡ 9000 
 `¡V$p fp¡L$X$ 40 

 

 õV$p¡L$_p¡ Qp¡`X$p¡ Nyd \ep¡ lp¡hp\u ApMf_p¡ õV$p¡L$ ip¡^u iL$pep¡ _\u. 
 
â.2 M¡X|$sîu Np¡`pgcpB_p Qp¡`X$pdp„\u _uQ¡_u dprlsu dmu R>¡. 31-12-2011_p fp¡S> `yfp \sp  

 (15) 
 hj® dpV¡$ s¡d_p hprj®L$ rlkpbp¡ s¥epf L$fp¡. 
 

rhNs ê$p. 
iê$Aps_p¡ õV$p¡L$  
 rbepfZ 12000 
 A_pS> 37000 
 Y$p¡f-Y$p„Mf 35000 
Mfuv$u  
 rbepfZ 14000 
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 Y$p¡f-Y$p„Mf 10000 
h¡QpZ  
 A_pS> 60000 
 v|$^_u b_phV$ 16000 
 Y$p¡f-Y$p„Mf 8000 
v$¡hpv$pfp¡ 30000 
g¡Zv$pfp¡ 44000 
6%_u gp¡_ 40000 
dS|>fu 21000 
D`pX$ 8000 
fp¡L$X$ 7000 
dS|>fu_p bv$g¡ A_pS> 2000 
M¡su_p e„Óp¡ 15000 
S>du_ A_¡ dL$p_ 40000 
kfL$pfu kbkuX$u 20000 
d|X$u 70000 
hpX$ L$fhp_p¡ MQ® 11000 
A_pS> h¡QpZ A„N¡ klL$pfu d„X$mu `pk¡ 
g¡Zp„ 

15000 

S>du_-dl¡k|g 5000 
 

 h^pfp_u dprlsu : 
1) 31-12-2011_p fp¡S> ApMf õV$p¡L$ 
 Y$p¡f-Y$p„Mf  ê$p. 30000 
 rbepfZ  ê$p.   8000 
 A_pS>  ê$p.   7000 
2) M¡s e„Óp¡ A_¡ S>du_ dL$p_ D`f 10% Okpfp¡ NZp¡ 
3) hpX$ L$fhp_p¡ MQ® b¡ hj® v$frdep_ dp„X$u hpmhp_p¡ R>¡. 
4) hj® v$fçep_ ê$p. 5000_p„ Y$p¡f Y$p„Mf_y„ h¡QpZ L$f¡g S>¡dp„\u 50% D^pf h¡QpZ R>¡. D^pf 

h¡QpZ_p 50% OpgMp^ sfuL¡$ dp„X$u hpmp¡. 
 

A\hp 
 

â.2 îu qL$i_cpB_p b¡ M¡sfp¡ R>¡. "A' A_¡ "b'. b„_¡ M¡sfp¡ A„N¡_u rhNsp¡ _uQ¡ dyS>b R>¡.  

 (15) 
  

iê$_p¡ õV$p¡L$   
bu - "A' 150  
  "b' 220 370 
Mpsf - "A' 2350  
  "b' 3230 5580 
Mpsf_u Mfuv$u   
  "A' 4200  
  "b' 5100 9300 
bu_u Mfuv$u   
  "A' 150  
  "b' 250 400 
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hudp râdued   
  `pL$ 160  
  Y$p¡f 70 230 
V²¡$¼V$f_p MQp®  3200 
Y$p¡f_p MQp®  1300 
V²¡$¼V$f  42000 
M¡sf_u qL„$ds  60000 
S>du_-dl¡k|g   
 M¡sf-"A' 150  
 M¡sf-"b' 240 390 
AÞe kp^_p¡  22000 
klL$pfu d„X$mudp„\u gp¡_  30000 
Y$p¡f_u qL„$ds (iê$_u bpL$u)  8000 
S>„sy_piL$ v$hp 
  "A' 

 
300 

 

  "b' 250 550 
v|$^_y„ h¡QpZ  5000 
Opk_y„ h¡QpZ  1760 
h¡QpZ - "A' 24000  
  "b' 36000 60000 
dS|>fu - kp\uAp¡_¡ 6000  
  R|>V$L$ 4000 10000 
tkQpB A„N¡ QpS>®  1200 
d|X$u  72060 
A„Ns D`ep¡N dpV¡$ gu^¡g 
dpg 
(4:3_p âdpZdp„ "A' A_¡ 
"b'_p¡ D`ep¡N) 

  
 

1400 

`pL$ h¡QpZ A„N¡ klL$pfu 
d„X$mu `pk¡ g¡Zp„ 

  
1800 

b¢L$dp„ qX$`p¡TuV$  2650 
lp\ `f fp¡L$X$  1250 

 

 h^pfp_u dprlsu : 
1) hj®_¡ A„s¡ lp\ `f õV$p¡L$ _uQ¡ âdpZ¡ R>¡. 
 bu  - ê$p. 120 
 Mpsf  - ê$p. 150 
 A_pS> - ê$p. 4000 
2) ApMf õV$p¡L$, dS|>fu A_¡ tkQpB b„_¡ M¡sfp¡ hÃQ¡ s¡d_p n¡Óam_p âdpZdp„ apmhhp_p 

R>¡. M¡sf "A' 2 A¡L$f_y„ A_¡ M¡sf "b' 3 A¡L$f_y„ R>¡. 
3) V²¡$¼V$f A_¡ AÞe kp^_p¡ `f 20% Okpfp¡ NZp¡. 
4) hj®_¡ A„s¡ Y$p¡f_u qL„$ds ê$p. 6200 Ap„L$hpdp„ Aphu. 
5) d„X$mudp„\u gu ¡̂g gp¡_ `f 10% g¡M¡ 6 dpk_y„ ìepS> Q|L$hhp_y„ bpL$u R>¡. 
 

  D`f_u rhNsp¡_¡ Ap^pf¡ qL$i_cpB_y„ sp. 31du dpQ® 2012_p fp¡S> `|fp \sp hj®_y„ 
_ap-_yL$ip_ Mpsy„ A_¡ `pLy$ kfh¥ey„ s¥epf L$fp¡. 
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â.3 îu fpd A_¡ îu íepd kp¡rgrkV$f sfuL¡$ â¡¼V$uk L$f¡ R>¡. s¡d_y„ _ap-_yL$ip__y„ âdpZ 3/5 A_¡ 

 (15) 
 2/5 R>¡. s¡Ap¡ Mf¡Mf dm¡g audp„\u \sp¡ _ap¡ hl¢Q¡ R>¡. íepd_¡ hprj®L$ ê$p. 6000 

`Npf_p Ap`hpdp„ Aph¡ R>¡. d|X$u `f 5% ìepS> NZhpdp„ Aph¡ R>¡. v$f¡L$ cpNuv$pf s¡_¡ 
dm¡gu qX$f¡¼V$f sfuL¡$_u audp„\u AX$^u fL$d g¡ R>¡ A_¡ bpL$u_u fL$d kpdpÞe _._y. Mps¡ 
gB S>hpdp„ Aph¡ R>¡. ApqV®$L$g ¼gpL®$_p râdued_u âdpZkf fL$d dp„X$u hpmhp_u R>¡. 
ar_®Qf A_¡ qaqV„$Ák_u qL„$ds ê$p. 5000 ky^u dp„X$u hpmhp_u R>¡. 

  sp. 31du qX$k¡çbf 2011_p fp¡S>_y„ L$pQy„ kfh¥ey„ _uQ¡ dyS>b lsy„. A¡ `f\u sdpf¡ 
31du qX$k¡çbf 2011_p fp¡S> `|fp \sp hj®_y„ _ap-_yL$ip_ Mpsy„ s\p s¡ spfuM_y„ `pLy$ 
kfh¥ey„ s¥epf L$fhp_y„ R>¡. 

 

rhNs D^pf S>dp 
fpd_u d|X$u  18000 
íepd_u d|X$u  12000 
fpd_p¡ D`pX$ 10000  
íepd_p¡ D`pX$ 10500  
lp\ `f rkgL$ 1250  
b¢L$dp„ rkgL$ (`¡Y$u_u) 25800  
b¢L$dp„ rkgL$ (Akugp¡_p Mpsp_u) 43000  
au dpV¡$ A_pds (1-1-2011)  37500 
2011 v$frdep_ Akugp¡ Mps¡ D^pf¡gu au_u fL$d  62000 
au A„N¡_p v$¡hpv$pfp¡ 42850  
`fQ|fZ MQ® A„N¡_p v$¡hpv$pfp¡ 9700  
g¡Zv$pfp¡-Akug  41500 
g¡Zv$pfp¡-`fQyfZ  2900 
hudp L$rdi_  3400 
ar_®Qf A_¡ qaqV„$Ák 5900  
Ap¡qX$V$ au, cpXy„$ Ap¡qak MQ® hN¡f¡ 12700  
ApqV®$L$g ¼gpL®$_y„ râdued (1-1-2011\u 6 hj® 
dpV¡$) 

 6300 

fpd_u qX$f¡¼V$f au  2000 
õV$pa `Npf 28400  
 190100 190100 

 
A\hp 

â.3 

(A) îu ^_íepdcpB A¡L$ kp¡rgkuV$f R>¡ s¡Ap¡ s¡d_p ìehkpe_u rhNsp¡ _uQ¡ âdpZ¡ Ap`¡ R>¡.   (12) 
 s¡_p Ap^pf¡ 31du dpQ® 2012_p fp¡S> `yfp \sp hj®_y„ _ap-_yL$ip_ Mpsy„ A_¡ 31 dpQ® 

2012_p fp¡S>_y„ `pLy$ kfh¥ey„ s¥epf L$fp¡. 
Akugp¡_u Ly$g au (b_ph¡gp„ rbgp¡) 670500 
31-3-2012_p fp¡S> A^|fp L$pd 51700 
d|X$u 150000 
D`pX$ 360000 
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_rl dm¡g au dpV¡$ A_pds 60000 
Akugp¡ sfa\u ANpD\u dm¡g au 83000 
au A„N¡ Akugp¡ `pk¡ bpL$u g¡Zp 115400 
Akugp¡ hsu Q|L$hZu 41000 
cpXy$ 120000 
Ap¡qak MQp® 87300 
Qy. bpL$u MQp® 4500 
ar_®Qf A_¡ Ap¡qak_p kp^_p¡ 24800 
`yõsL$p¡ 8900 
b¢L$ (Akug) 47300 
b¢L$dp„ fp¡L$X$ 63300 
Ap¡qak dL$p_ dpV¡$ qX$`p¡TuV$ 100000 

 

  [õ\f rdgL$sp¡ `f 10% g¡M¡ Okpfp¡ NZp¡. hj®_p A„s¡ Akugp¡ hsu Q|L$hZu_p 
Mpsp_u D^pf fL$d ê$p. 45000 _p„ b_ph¡g rbgp¡dp„ kdph¡i \sp _\u. 

 

(b) rlkpbp¡ fpMhp_u `ÙrsAp¡ S>Zphp¡.           (03) 
 

â.4 îu AS>eA¡ 30du kàV¡$çbf 2012_p fp¡S> _pv$pfp¡_u AfÆ v$pMg L$fu. A¡_y„ [õ\rsv$i®L$   (15) 
 r_h¡v$_ _uQ¡_p Ap„L$X$p_y„ b_¡g„y lsy„. 
  

dpg A„N¡_p g¡Zv$pfp¡ 75000 
v$¡hu lŸ„X$u 5000 
i¡f `f Ar^L$pf ^fphsp g¡Zv$pfp¡ 40000 
õV$p¡L$ `f Ar^L$pf ^fphsp g¡Zv$pfp¡ 15000 
hV$ph¡gu lŸ„X$u_u S>hpbv$pfu (ê$p. 3000_u lŸ„X$u 
_L$fphp_p¡ k„ch R>¡.) 

7000 

L$pfMp_p `f Nufp¡ gp¡_ 10000 
cpXy$, L$f hN¡f¡ dpV¡$_p g¡Zv$pfp¡ (â¡af[Þieg) 3000 
v$¡hpv$pfp¡-kÙf 25000 
iL$d„v$ A_¡ X|$bs (D`S>hp ^pf¡g ê$p. 2000) 10000 
i¡f (D`S>hp ^pf¡g ê$p. 16000) 15000 
õV$p¡L$ (D`S>hp ^pf¡g ê$p. 40000) 60000 
b¢L$ rkgL$ 100 
g¡Zu lŸ„X$u 1400 
L$pfMp_y„ (D`S>hp ^pf¡g ê$p. 11000) 20000 
e„Óp¡ (D`S>hp ^pf¡g ê$p. 12000) 15000 
qa¼Qk® (D`S>hp ^pf¡g ê$p. 1500) 3000 
Of (D`S>hp ^pf¡g ê$p. 3000) 6800 

 

  R> hj® `l¡gp„ sp. 1gu Ap¡¼V$p¡bf, 2006_p fp¡S> s¡d_u d|X$u ê$p. 50000 lsu. R> 
hj® v$frdep_ ê$p. 45500_p¡ _ap¡ \ep¡ lsp¡ A_¡ ê$p. 25000_u Mp¡V$ NB lsu. v$f hj£ 
d|X$u `f ê$p. 2500 ìepS> NZhpdp„ Apìey„ lsy„. s¡d_p¡ D`pX$ ê$p. 77200 lsp¡. 
[õ\rsv$i®L$ r_h¡v$_ A_¡ s|V$Mpsy„ s¥epf L$fp¡. 
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A\hp 
 
 
 
 
â.4 

(A) Ap_„v$ A_¡ v$¡hp_„v$_u `¡Y$u, S>¡Z¡ sp. 31-12-2011_p fp¡S> _pv$pfu _p¢^phu R>¡, s¡ fp¡S>_y„    (10) 
 s¡_y„ `pLy„$ kfh¥ey„ _uQ¡ âdpZ¡ R>¡ : 
 

v$¡hp„ ê$p. rdëL$sp¡ ê$p. 
Ap_„v$_u d|X$u 2000 fp¡L$X$p 200 
v$¡hp_„v$_u d|X$u 3000 ar_®Qf 800 
b¢L$ Ap¡hfX²$pãV$ _„. 1 2000 v$¡hpv$pfp¡ 2400 
b¢L$ Ap¡hfX²$pãV$ _„. 2 1000 e„Óp¡ 2000 
g¡Zv$pfp¡ 2000 õV$p¡L$ 2600 
  _ap _yL$ip_ 2000 
 10000  10000 

 

  `¡Y$u_p g¡Zv$pfp¡dp„ _uQ¡ S>Zph¡g v$¡hp„_p¡ kdph¡i \ep¡ lsp¡. 
 

  b¡ dpk_y„ cpXy„$ ê$p. 200, b¡ L$pfLy$__p¡ 4 dpk_p¡ L$pfLy$_ v$uW$ drl_¡ ê$p. 100 g¡M¡ 
`Npf, b¡ dS|>fp¡_u 5 dpk_u dS|>f v$uW$ drl_¡ ê$p. 20 g¡M¡ dS|>fu s\p R>¡‰p„ b¡ hj®_p¡ 
V¡$¼k ê$p. 140. b¢L$ Ap¡hfX²$pãV$ _„. 1_u `pk¡ Ap_„v$_p dL$p__p v$õsph¡Å¡ Nufp¡ R>¡. Äepf¡ 
b¢L$ Ap¡hfX²$pãV$ _„. 2_u `pk¡ `¡Y$u_p„ e„Óp¡ Nufp¡ R>¡. 

 

  `¡Y$u_p e„Óp¡_p ê$p. 800 D`S>¡ s¡d R>¡. s\p v$¡hpv$pfp¡ `pk¡\u ê$p. 1600 hk|g Aph¡ 
s¡d R>¡. õV$p¡L$_u D`S>hp ^pf¡g qL„$ds ê$p. 600 R>¡. Äepf¡ ar_®Qf_p ê$p. 600 Ap¡R>p D`S>¡ 
s¡d R>¡. qfrkhf_p¡ MQ® ê$p. 200 \pe s¡d R>¡. 

 

  Ap_„v$_u Mp_Nu rdgL$sdp„ dL$p_ ê$p. 3000_y„ R>¡, s\p g¡Ï„ ê$p. 1000_y„ R>¡. 
dL$p__p ê$p. 2500 s¡dS> g¡Zp„_p ê$p. 500 D`S>¡ s¡d R>¡. s¡_y„ v$¡hy„ ê$p. 2500_y„ R>¡. 

 

  v$¡hp_„v$_u Mp_Nu rdgL$sp¡ ê$p. 3000_u qL„$ds_u R>¡, S>¡_p ê$p. 2000 D`S>¡ s¡d R>¡. 
s¡_p„ v$¡hp ê$p. 1800_p R>¡. 

 

  D`f_u dprlsu `f\u `¡Y$u_p„ s\p cpNuv$pfp¡_p„ [õ\rsv$i®L$ r_h¡v$_p¡ A_¡ s|V$ Mpsp„ 
s¥epf L$fp¡. 

 
(b) _uQ¡_p `v$p¡ kdÅhp¡ : 

 (1) k„`|Z® kgpds g¡Zv$pfp¡            (02) 
 (2) `k„v$Nu_p g¡Zv$pfp¡            (03) 
 






